Year 4 Spring 1 Maths Activity Mat 2

Section 1 Section 2 Section 3 Section 4
Complete the calculation. The mileage of a car is 7479 Calculate Multiply 7, 3 and 4.
miles. In the next month,
it is driven a further 1962 35+ 10 = Write a number statement.
9065 miles. What is the mileage
_2829 now? 78 + 100 =
42 + 10 =
40 +100 =
Section 5 Section 6 Section 7 Section 8
Circle the larger number A school orders 200 pencils. List all the factors of these Calculate:
of each pair of decimals. 168 are given out. The numbers. The number of factors
remaining pencils are placed is in brackets. x =8 =56
5.42 5.27 into two boxes of equal
amount. How many pencils 20 (6)
: +9=4
are in each box?
1.18 0.81 16 (5)
3x70-=
22 (4)
1.35  1.53 90 x 9 =
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Year & Spring 1 Maths Activity Mat 2 - Answers

Section 1

Complete the calculation.

9065

-2829
6236

Section 2

The mileage of a car is 7479
miles. In the next month,
it is driven a further 1962
miles. What is the mileage
now?

Section 3
Calculate

35+10= |33

78 + 100 =|0.78

42 +10= | 4.2

Section &4
Multiply 7, 3 and 4.

Write a number statement.

9441 40 =100 = | 0.4 7x3x4=284
Section 5 Section 6 Section 7 Section 8
Circle the larger number A school orders 200 pencils. List all the factors of these Calculate:
of each pair of decimals. 168 are given out. The numbers. The number of factors
remaining pencils are placed is in brackets. 7 | x=8=56
@ 5.27 into two boxes of equal
amount. How many pencils 20 (6) 1,2, 4,5,10, 20 36 | 9=
are in each box? ST
0.81 16 (5) 1,2,4,8,16
= |21
22 (4) 1,2, 11, 22 3x70= 1210
1.35 @ 16 90 x 9 = 810
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